115

UN\NEVUTOTS AR

1 3 %

JWE N S B A LY S LTI TSN

g W * S & *

2 3 4 5 6 7
920 Y= ILOT V=0 ILOT V=0 ILOT V=0 ILOT )= LTI S ‘
13:00
~14:00 | ¢ ot FJ—0T F1U=0T FJ—0T inoll - g*z
14100 ~37~ —— ~ARLY T~ PRIV ~hU—Zy T~ PRIV 20 ~ARLY T~ P RNV 2D ~370~ P RINYZ®D OOHED
~15:00 =02 ¥ S ILesIL SLedoL S L
129 BEESrL——VT R=yyD N=yv D

o 10 11 12 13 14
. V) —3 K
920 Y=Y%)LOT Y—w)LOT Y—w)LOT Y—w)LOT = LTI S
13:00
~14:00 | Fy—0T FA1—0T F1)—0T FA1—0T F1 =0T S
14:00 ~373~ P ~ARUYF 7 EINY2@ ~hU=ZYT~ P EINYZ@ ~ARUYF 7 EINY2@ ~37~ 7 RINY 2@ BODAED
~15:00 FL—ZVTHS AN — UAINY — AR *5 O TDEE
15:00 § ——> =3y N— v
~16:00 BBEGENL-ZVD N=YwD N=Y 97

16 17 18 19 21 21
920 Y= ILOT V=0 ILOT V=0 LOT V=0 ILOT )= LTI S
13:00
~14:00 | ¢ ot FJ—0T F1U=0T FJ—0T inoll - g*z
14100 ~37~ —— ~ARLY T~ 7 RINY2E) ~hU==Y T~ P RINY26) ~ARLY T~ P RINY 2D ~370~ AR OOHED
%% RU—=>TEEs - = A o HHTOES
129 BEESrL-—ZVT R=yyD A

24 25 26 27 28

. V) —3 K
2T 20 Y=¥v)LOT Y=y LoT Y= )LOT AZTOED 52 512Kz
13:00
~14:00 FA1—0T F1)—0T FA1—0T F1 =0T S
14:00 ~ARUYF 7 EINY2Q ~hU=ZYT~ 7 EINY20 ~ARUYF 7 BNV 20 ~37~ P EINY 2@ e
~15:00 £ ® JLeyIU JLeyIL P
15:00 —y N/
~16:00 N=YvD N=YvD
2.2 Y—Yv)LOT ‘
13:00
~14:90 | FrU—OT
14:00 ~37)~ -
%% RL—=> T
15:00 g -
25 BREF~L—ZVT *




